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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give the answer of following questions.

	 {ZåZ{b{IV àíZm| Ho$ CÎma {X{OE&

	 (i)	 Define Disposable income.

		  à¶moÁ¶ Am¶ H$mo n[a^m{fV H$s{O¶o&

	 (ii)	 Explain problem of double counting.

		  Xmohar JUZm H$s g‘ñ¶m H$mo ñnîQ> H$s{OE&

	 (iii)	 What do you mean by marginal propensity to saving?

		  gr‘mÝV ~MV àd¥{Îm go Amn ³¶m g‘PVo h¢?

	 (iv)	 What is meant by speculative demand for money?

		  ‘wÐm H$s gÅ>m ‘m§J go ³¶m A{^àm¶ h¡?

	 (v)	 What is IS curve?

		  IS dH«$ ³¶m h¡?

	 (vi)	 Explain mark-up Inflation.

		  A§{H$V ‘wÐm ñ’$s{V H$mo g‘PmBE&

	 (vii)	Define bank rate.

		  ~¢H$ Xa H$mo n[a^m{fV H$s{OE&

	 (viii)	What do you mean by aggregate demand?

		  g‘J« ‘m§J go Amn ³¶m g‘PVo h¡?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What is economic welfare? Discuss the relationship between 

national income and economic welfare.

	 Am{W©H$ H$ë¶mU go ³¶m A{^àm¶ h¡? amîQ´>r¶ Am¶ VWm Am{W©H$ H$ë¶mU 
Ho$ AÝV g§å~§Y H$s {ddoMZm H$s{OE&

3)	 Explain the product method or value added method of 

estimating national income.

	 amîQ´>r¶ Am¶ Ho$ AmH$bZ H$s CËnmX {d{Y AWdm ‘yë¶ d¥{Õ {d{Y H$m dU©Z 
H$s{OE&

4)	 Write a short note on balanced budget multiplier.

	 gÝVw{bV ~OQ> JwUH$ na EH$ g§{jßV {Q>ßnUr {b{I¶o&

5)	 Explain liquidity preference theory of money demand.

	 ‘wÐm H$s ‘m§J Ho$ VabVm A{Y‘mZ {gÕmÝV H$mo ñnîQ> H$s{OE&

6)	 Differentiate between demand pull inflation and cost push 

inflation.

	 ‘m§J OÝ‘ ñ’$s{V VWm bmJV OÝ‘ ñ’$s{V ‘| AÝVa ñnîQ> H$s{OE&

7)	 Explain the classical development theory of adam smith.

	 E‹S>‘ pñ‘W Ho$ {dH$mg Ho$ à{VpîR>V {gÕmÝV H$mo g‘PmBE&
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8)	 Explain in brief Harrod-Domar model

	 h¡a‹S>-S>mo‘a ‘m°S>b H$s g§{jßV ì¶m»¶m H$s{OE&

9)	 Discuss the Anti Cyclical policies.

	 ì¶mnma MH«$ {ZamoYH$ Zr{V¶m| H$s {ddoMZm H$s{O¶o&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Critically examine fisher's quantity theory of money.

	 {’$ea Ho$ ‘wÐm n[a‘mU {gÕmÝV H$s AmbmoMZmË‘H$ ì¶m»¶m H$s{OE&

11)	 Explain the concept of multiplier. Show its forward and 

backword working.

	 JwUH$ H$s YmaUm H$s ì¶m»¶m H$s{OE& BgHo$ AmJo Am¡a nrN>o Ho$ ì¶dhma na 
àH$me S>m{b¶o&

12)	 Critically examine the Karl Marx's development model.

	 H$mb© ‘m³g© Ho$ {dH$mg ‘m°S>b H$m AmbmoMZmË‘H$ ‘yë¶mH§$Z H$s{O¶o&

13)	 Explain in brief samuelson's model of trade cycle.

	 ì¶mnma MH«$ Ho$ g¡å¶wAbgZ Ho$ {gÕmÝV H$s g§jon ‘| ì¶m»¶m H$s{O¶o&


